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	ERCOT/Market Segment Impacts and Benefits


Instructions:  To allow for comprehensive PRR consideration, please fill out each block below completely, even if your response is “none,” “not known,” or “not applicable.”  Wherever possible, please include reasons, explanations, and cost/benefit analyses pertaining to the PRR.

	
	Impact
	Benefit

	
	Business
	Computer Systems
	

	ERCOT
	Not Known
	Not Known
	Not Known

	MARKET SEGMENT
	
	
	

	Consumer
	Not Known
	Not Known
	Not Known

	LSE:
General, Including NOIE
	Not Known
	Not Known
	Not Known

	LSE:
CR & REP
	
	
	

	QSE
	Not Known
	Not Known
	Not Known

	Resource
	Not Known
	Not Known
	Not Known

	TDSP
	Not Known
	Not Known
	Not Known


	Comments


Calpine believes that any new approach taken to establish more rational compliance measures for control performance standards applied to QSEs must be aligned with those periods that ERCOT as an interconnect has the most difficulty passing CPS1.  With this concept in mind, we propose that the Regulation Deadband being proposed in this PRR (+-100 MWs) be scalable upward and downward based on a statistical analysis of ERCOT’s system CPS1 data from the previous six (6) months. 

For example, upon implementation of this PRR the ERCOT-wide RGSU deadband should be set at +100 MWs for the hours ending 06:00, 07:00, and 23:00 since those are the hours that ERCOT has historically had the lowest CPS1 performance.  The other hours of the day should have RGSU deadbands ratioed upward based on ERCOT’s CPS1 hourly average values for the last six months in relation to those three hours.  This same principle would apply to the RGSD Deadband.

	Revised Proposed Protocol Language


6.9.9
SCE Performance

QSE’s shall be charged for each 5-minute interval for SCE average outside their deadband that contributes to regulation deployment.  For QSE’s providing RGSU, negative SCE outside the deadband during intervals of total average ERCOT RGSU deployment greater than 100 MW (ERCOT RGSU Deadband)shall be charged MCPC for RGSU multiplied by the QSE’s RGSU obligation on Resources divided by the number of 5-minute intervals per hour (12).  For QSE’s providing RGSD, positive SCE outside the deadband during intervals of total average ERCOT RGSD deployment greater than 100 MW (ERCOT RGSD Deadband) shall be charged MCPC for RGSD multiplied by the QSE’s RGSD obligation on Resources divided by the number of 5-minute intervals per hour (12).
The ERCOT RGSU Deadband and RGSD Deadband shall be positive and negative MW values respectively that are calculated and posted by ERCOT for each six month period and are derived from statistical analysis of ERCOT’s hourly CPS1 values from the past six months.
For QSE’s not providing RGSU, negative SCE outside the deadband during intervals of total average ERCOT RGSU deployment greater than 100 MW shall be charged MCPC for RGSU multiplied by the SCE energy.  For QSE’s not providing RGSD, positive SCE outside the deadband during intervals of total average RGSD deployment greater than 100 MW shall be charged MCPC for RGSD multiplied by the absolute value of SCE energy.

The deadband for each QSE is 2% of scheduled generation with a minimum of 12 MW and a maximum of 60 MW.  

In intervals where the five minute ERCOT average produces both a RGSD and RGSU quantity, the numerical result will be computed by RGSU – RGSD.

The SCE Performance Charge will be calculated as follows:

QSEDBiq 
=
MIN( 60, MAX( 12, 0.02 * SUM(QRSizq)z))

If the average of RGSU deployed for the 5-minute interval is greater than the ERCOT RGSU Deadband, then



If SCEiq is less than -QSEDBiq, then



PCHSCEiq 
=
MCPCRGSUi * MAX( QSERGSUiq, ABS( SCEiq ) ) / 12


Else



PCHSCEiq 
=
0

Else if the average of RGSD deployed for the 5-minute interval is greater than the ERCOT RGSD Deadband, then



If SCEiq is greater than QSEDBiq, then



PCHSCEiq 
=
MCPCRGSDi * MAX( QSERGSDiq, ABS( SCEiq ) ) / 12


Else



PCHSCEiq 
=
0

If the average of RGSU and RGSD deployed for the 5-minute interval equals zero, then


PCHSCEiq 
=
0
PCHSCEjq
=
SUM( PCHSCEiq )i
Where:

i
5-minute interval for performance measurement

j
15 minute Settlement Interval

q
QSE

z
zone

MCPCRGSDi
MCPC for RGSD for the hour containing the interval

MCPCRGSUi
MCPC for RGSU for the hour containing the interval

PCHSCEiq
SCE Performance charge per 5-minute interval
PCHSCEjq
SCE Performance charge per 15-minute Settlement Interval
QSEDBiq
QSE SCE deadband

QSERGSDiq
QSE RGSD obligation on Resources for the hour containing the interval

QSERGSUiq
QSE RGSU obligation on Resources for the hour containing the interval

QRSizq
Resource schedule (MW) per interval per zone per QSE.

SCEiq
QSE average SCE for the interval

QSE SCE Performance Charge shall be adjusted according to the exceptions described in Section 6.10.6, Ancillary Service Deployment Performance Conditions.
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